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School Mission Statement
As a Methodist school, our values lie at the heart of all we are and do. Within our
caring Christian community, where all are welcome, everyone is encouraged to be the
best that they can possibly be. We promote respect, compassion and resilience to
prepare our children for the challenges of an ever-changing world.

Rise up .......take courage and do it”
Ezra 10:4

This policy documents the mathematical concepts and procedures
encountered throughout the school’s approach to teaching maths, in line
with Maths — No Problem! The methods and the approach are tailored
to meet the expectations and objectives of the National Curriculum.



ADDITION

EARLY ADDITION
Children have access to a range of ‘concrete’
resources to support the exploration of
addition. Addition 1is presented to them in a
variety of contexts, progressing from single
digit addition to word problems that require
addition within 20.

4 + 2 =6
Children use
objects to ‘jump’
along the number
track, learning
to begin with the
greatest number.

5+ 3 =28
Children use I
‘unifix’ cubes RIKIR)

and/or a number
line to learn to

-+t
\ 14
Counton° 0 1 2 8§ 4 §5 B8 7 & 9% 10
2 + 3 — 5 Put 5§ cupcakes on two plates. “
Part/Part/Whole (ﬁ\ - &S
iagrams are » <D
introduced to whole 2 -
display number Cx:::f' | s
bondS Wlthll’l lO. This i a niiimber bond,
8 + 6 = 14

Children use ten
frames to support
efficient
strategies for
adding (e.g.
using number
bonds to make
ten) .
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TENS & ONES
Children build on their use of ten-frames to
explore numbers using Base 10. These help
embed an understanding of ‘tens and ones’
when looking at two-digit numbers. This
exploration with Base 10 provides a concrete
link to column addition.

Adding a one-
diglit number to
a two-digit ot o
number without 5 ones + 3 ones = 8 ones tns  ones
the need for 2 s
renaming. —
25 + 3 = 28 Step2  Add the tens -
Children use .
Base 10 to add —=
the ones first, 2543226
and then the
tens.

Adding a one-
digit number to
a two-digit
number without
the need for .

renaming.

25 + 3 = 28 "
Children use
number disks to
add the ones
first and then
the tens.

Adding tens to a
three-digit
number.

add

e S
214 + 40 = 253 H -
Children use oo L "
Base 10 to add (o) (10) amaeso-om W
tens - counting

213+40=253

on in tens to
support where
needed.
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Adding hundreds
to a three-digit
number.

213 + 400 = 613
Children use
Base 10 to add
tens - counting
on in tens to
support where
needed.

add

l | K’—-_ -

woy 213 +/400)
—{ },-‘— /200 + 400 = 600

Qs ) go@ 13+600= 613 ',

213+ 400=613

Thera are 613 pupils in Lakeside Primary School

-

o
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RENAMING
Continuing their exploration using Base 10,
children encounter two-digit addition that
requires ‘regrouping’ or ‘renaming’ ten ones
as one ten. This is then linked to the
column addition method.

Adding a one-
digit number to
a two-digit
number by
renaming.

24 + 7 = 31

Children use s T oo Lol you e
Base 10 to add T o &
the ones first, : . \
renaming as tens o — s )
and ones, then I o
adding the tens. -

Moving onto —

24+7=31

adding a two-
digit number to
a two-digit
number by
renaming.

Adding a three- e MWWMWN!‘
digit number to oo |
a three-digit =1l
number by ” Z 1l -
renaming. —3
278 + 349 = 627 ll
Children use et )
Base 10 to add i e
the ones first, “ Z o
renaming as tens e | 2
and ones, then I L | —
adding the tens, B
renaming as tens S mined 2 e + 3 undiads =8 hrdrads
and hundreds, “ i
then adding the : N R
hundreds. H

278 + 349 = 627
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Adding a four-
digit number to
a four-digit

number by Pt of 458 and 1667

Step 1 Add the ones. 6 ones + 7 ones = 13 ones
Rename the ones.

renaming. =500 w
4256 + 1987 = il ::m
62 4 3 ool 100Tioo] ELIET
. OD|wwi
Children use ©B|10 1| .
fooioc] EUELY (1] 3
place value o i

discs to add the ser
ones first, -
renaming as tens =
and ones, then 44T
adding the tens, oo e
renaming as T e o et
hundreds and ool
tens, then e | i
adding the
hundreds,
renaming as

Step 4 Add the thousands.
4 thousands + 1 thousand + 1 thousand = 6 thousands

el [1ooliocl ELELHT 1 11 NN
thousands and 22 [P0 | ===
hundreds, then
adding the
thousands.

FORMAL METHOD
As they progress through Key Stage 2,
children apply column addition to larger
numbers. There 1s an increasing amount of
‘renaming/regrouping’ across a range of
values, including decimal numbers.

Adding larger
numbers using

the column 1
method.
34 862 + 317 = 4

35 179
Children add the
ones first and
move through the
places each

w t+ w
= (W 00
N - O
WId N

(9))
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time, renaming
where necessary.

Adding decimal
numbers using
the column
method.
1.038 + 0.984
2.022
Children add the
least
significant
column first and
move through the
places each
time, renaming
where necessary,
ensuring the
digits are lined
up, using the
decimal point.

=
[
=

NIO =

ol O
N[00 W
NP~ 00

SUBTRACTION

EARLY SUBTRACTION

Children have access to a range of

‘concrete’

resources to support the exploration of

subtraction.

in a variety of contexts,
single digit subtraction to word problems
that require subtraction from 20.

Subtraction is presented to them

progressing from

6 — 2 =4
Children use
objects to ‘jump’
along the number
track, learning
to begin with the
greatest number.

%

0060600000
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6 — 2 =14
Children begin
exploring the

concept of
subtraction by

removing concrete
resources or by
crossing out
pictorial
representations.

6 -2 =14
Children use
‘unifix’ and

number lines to
continue to
support learning
as they explore
subtraction
within 10, making
links to, and
reinforcing,
number bonds.

L
nn
i
iyl
[4]4]
=ttt

01 2 3 4 5 6 7 8 9 10

4 -3 =1
7 -5=2
Part/Part/Whole
diagrams are used
to represent what
is left when
subtracting,
using number
bonds.

12 - 3 =9
Chidlren progress
to subtraction
within 20, using
ten-frames to
help develop
their
understanding of
number bonds and
introduces the
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concept of tens
and ones.
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explore numbers using Base 10.
embed an understanding of
when looking at two-digit numbers.

TENS & ONES
Children build on their use of ten-frames to

The
‘tens an

se help
d ones’
This

exploration with Base 10 provides a concrete
link to column subtraction.

Subtracting
a one-digit
number or a
two digit
number from
a two-digit
number
without the
need for
renaming.
37 24 13
Children use
Base 10 to
subtract the
ones first,
and then the
tens.

Step1  Subtract the ones.
8 ones - 3 ones = 5 anes tans

Subtract 24 from 37,
ones Stepl  Subtract the ones

i o

Use Wm help you subtract.

7ones - 4 ones = 3 ones

Step 2

-----

3
w3

¥

v

tens ones

Step2  Subtract the tens.

S tens - 2tens =1 ten

F|-

37-24=13

Subtracting
tens from a
three-digit
number
without the
need for
renaming.
658 40
618
Children use
Base 10 to
subtract,
counting
back in tens
if
necessary.

Method 2

Subtract tens.

-~ 5
-
- -

SEREEEREES
XXX

658,40,

608 + 10 = 618
658 - 40 = 618

There were 618 children that remained in the hall

I
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Subtracting
hundreds
from a
three-digit
number
without the
need for
renaming.
658 - 500 =
158
Children use
Base 10 to
subtract,
counting
back in
hundreds if
necessary.

Method 2 Subtract hundreds.

it |

658,500
£, ./ 600-500=100
Ga :,609‘.‘" 58 + 100 = 158

658 - 500 = 158 &y
-

There were 158 children that remained in the hall

Subtracting
a three-
digit number
from a
three-digit
number
without the
need for
renaming.
975 - 723 =
252
Children use
Base 10 to
subtract,
counting
back in
ones, tens
and hundreds
if
necessary.

Subtract 723 from 975,

Step1  Subtract the ones.
5 ones - 3 ones = 2 onas

il
Il

Step2 Subtract the tens.
7 tens - 2 tens =5 tens

|+
)

Step3  Subtract the hundreds
9 hundreds - 7 hundreds = 2 hundreds

fit
all

975 - 723 =252

e

~Nw©o T
NN
wo oo

~

o T
NN -
wo o

«
~

~e T
NN
w o

~
«
n

There were 252 beads left in the jar:
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RENAMING

Continuing their exploration using Base 10,
children encounter two-digit subtraction that

requires ‘regrouping’ or ‘renaming’

one ten as

ten ones. This i1is then linked to the column

subtraction method.

Subtracting a
one-digit
number from a
two-digit
number by
renaming.

23 - 5 =18
32 — 16 = 16 | s o
Children use "y
Base 10 to | 2
subtract the -

ones first,

renaming a | oo g

ten as ten 12 ones - 6 ones = 6 ones

ones, then Ll ? gs
subtracting o 1 ¥

from the

teens number.
Move on to
subtracting a
two-digit
number from a
two-digit
number.

Step 2

Step 2

Subtract the tens.

tens

23-5=18

Subtract the tens.

2tens-1ten=1ten

Q/"

tens

-

ones

12

32-16=16
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Subtracting a
three-digit
number from a
three-digit
number by
renaming.

520 + 269 =
251
300 - 125 =

175
Children use
Base 10 to
subtract the
ones — rename
a ten first,
renaming as
ten ones,
then
subtracting
the tens,
rename a
hundred
first,
renaming as
ten tens,
then
subtracting
the hundreds.

Subtract 269 from 520. @
Stap1 Regroup 1t
Subtract the ones. 400 110 10
10 one 9ones = 1one
RO
MO

Step1

LY

oo =

200

-8

oK -

& o

90 10

~ e

ERE .

-

Step2  Regroup 1 hundred into 10 tens.

Subtract the tens.

ens = 5 tens

Step 3 ubtr

11 6t
x
%
: b
by 4 1 1
74 ) & 2 o
pe= || > 2 6 9
i 5 1
act the hundreds.
4 hundreds - 2 hundreds = 2 hundreds
h t °
" TUe
e - D
1 2 6 9
2 5 1
520 - 269 = 251
Step2  Subtract the tens,
9 tens -~ 2tens = 7 tens
% h t o
9 1
y % %
1§21 s
7 5
Subtract the hundrads
2 hundreds - 1 hundred = 1 hundrad
h t o
2y 195 19,
M 2 5
il 7 &

300-125=175

There are 175 girls in the school,
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Subtracting a

four-digit
number to a
four-digit
number by
renaming.
5280 - 3169 =
2111
Children use ,
place value == e
discs to o ‘ ¢6 4 ———p
subtract the < Eﬁ ﬁﬁ
ones first,
renaming as soeelioodffioolicol KLRTH (1 11 I
00Q0 .,
ten ones, -3 1010|@@| -1 o
then CRECH (111
subtracting il
the tlens, 3 -
renaming a war |[XOR| DOSRR| 5 2 5 8
hundred as 569 % O KK 2 L e 9
ten tens, MR | ———
then KX
subtracting

the hundreds,
renaming as
ten hundreds,
then
subtracting
the
thousands.

FORMAL METHOD

As they progress through Key Stage 2, children apply column subtraction
to larger numbers. There is an increasing amount of

‘renaming/regrouping’ across a range of values. Column subtraction is
then applied to the subtraction of decimal numbers.
Subtractin
g 6 14
larger

numbers using 5 3 7 4 3

the column

method. - 3- 0 2 8 2
53 743 - 30
282 = 23 461 2 3 4 6 1
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Children
subtract the
ones first
and move
through the
places each
time,
renaming
where
necessary.

Subtracting
decimal
numbers using
the column
method.
3.026 - 1.624
= 1.412
Ensure the
digits are
lined up,
using the
decimal
point.

[\

L

A0 O

=R N

NP~ O
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MULTIPLICATION

EARLY MULTIPLICATION
Children have access to a range of ‘concrete’
resources to support the exploration of
multiplication. Multiplication 1s presented to
them in a variety of contexts, progressing from
single digit multiplication to word problems that
require doubles totalling 20 or less.

3 x5 =15
Children first
encounter
multiplication as
equal groups.
Once they have
established the ... ... ...
concept of o000 00 0
‘equal’ they
progress to
adding the
groups.

3x2 =26
Children use
their knowledge
and understanding

of equal groups Polic oo e S |
to find the total %ﬂsﬁu & 2
using repeated Sposctz - f‘zm R
addition. This g ) I
then leads to the Thereares B I

phrase ‘groups

of’ and children
develop their

ability to count
in multiples.
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2 x5 =10
Children explore
doubles beginning

with factors less
than 10

Double 5

10
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MULTIPLICATION

CONCRETE MULTIPLICATION
Children have access to a range of ‘concrete’
resources to support the exploration of
multiplication.

Making groups of
apparatus

6 x 2 =12 -

Children use

Ex2=
\unifix’ to show 221113
.\_._._._" lecsssssl tessssssd bsassssed '..____.::  ——

the factors in

§x2=10

the calculation.
Count in steps of e
how many are in
the group.
Repeated addition
10 x 5 = 50
Children use
their knowledge YT Y "0
and understanding 414114 L
of equal groups 222 44
to find the total LRRR B R R RR B
using repeated et sz 504550 gy
addition. Count 1l2|s|4|s]|e|7]e]o]0 H
in steps of the 2 [ [ [ [ oo 0
factor e.g. in s sz st [ se [ [ se s o] o
this problem this - 1
is fives, this wmmmmw%

could also be
counted in tens
however.

Related facts
2 X 3 =6
3 x3 =09 . -
4 x 3= 12 __ ¢

Children use o ﬁ

objects to show
multiplication P am
problems, using

known facts to I

work out new

ones.
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Arrays
6 x 7 = 42 6
7 x 6 = 42
Children draw ::::::
dots to represent YYTYTY
amounts, DOSHOE 7
understanding the 000000
commutative 200000
properties of 000000
arrays.
MULTIPLICATION

WRITTEN MULTIPLICATION

Children use range of strategies to record

the exploration of multiplication.

8 x 18 = 144
Children use a
grid that breaks
down the amount
into tens and

| 8x£18=

gy N 10 0000
ol e £/ (LY LELY (8L oooo
000000000 :-:-
00000000 18

x 8
2/00000000| -y
/00000000| -~

144

ones to show how 200000000
- » 00000000

much this /00000000
calculation ©/00000000
represents . 8x10=80 8x8=64

1144 x 8 = 9152

Children break

down each stage T ]

of multiplication
by a one-digit
number as an
expanded method
of recording, to
show each stage
of the place
value of the
calculation.

1144

" 8

3 2 —» multiply by ones
3 2 0 = multiply by tens
8 00 = multiply by hundreds
+ 8 000 = multiply by thousands

9152
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28 x 26 = 728
Children set out
the
multiplication of
a two-digit
number by a two-
digit number as a
grid method of
recording, to
show each stage
of the place
value of the
calculation.

| There are 28 rows.
Each row consists of 26 seats.

26

10 10 6 )

-

28 4

400 120

160 48

28 x 26

=400+

=728

160 +120 + 48

-~

123 x 45 =
Children identify
the 1link between
the number discs
and the wvalues 1in

the shorter
method - multiply
the ones first,

then the tens,
then the
hundreds,

renaming where
needed.

123
4 5

QuoOOO

QDowoOOO

QuouoOPOO

Quo@POO

QowoOOO )

123 x5=500+100 +15 = 615

123x5

123

615

MULTIPLICATION

FORMAL MULTIPLICATION
Children use range of written strategies to
record the exploration of multiplication.
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8 x 18 = 144

| 8x£18=

] TEN S N ET) 0000
[ 15718838
gri a reaxs 5/00000000] -
down the amount » 00000000 .
- 500000000 o
into tens and 2/00000000| -
ones to show how » 00000000
- | 00000000
much this /00000000
calculation © 00000000
represents. e
1144 x 8 = 9152
Children break
down egch.stage T ol
of multiplication ik

by a one-digit
number as an
expanded method
of recording, to
show each stage
of the place
value of the
calculation.

" 8

3 2 = multiply by ones
3 2 0 = multiply by tens
8 00 = multiply by hundreds
+ 8 000 =¥ multiply by thousands

9152

28 x 26 = 728
Children set out
the
multiplication of
a two-digit
number by a two-
digit number as a
grid method of
recording, to
show each stage
of the place
value of the
calculation.

| There are 28 rows.
Each row consists of 26 seats.

28 4

26

100 100 28x 26

=400+ 160 +120 + 48

400 120 =728

-~

160 48

There are 728 seats.

123 x 45 =
Children identify
the 1link between
the number discs
and the values in

the shorter
method - multiply
the ones first,

123
45

C»© 000

2000 'y

123
Q00

1235 x 5
Q0000 —

Prov@00

1235 =500+100 + 15 = 615
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then the tens,
then the
hundreds,

renaming where
needed.

114 x 24 = 2736
Children break
down the lower
value factor into
tens and ones -

114 114 114
20 X 4 x 204

when 1n column 7280 456 ' 45 6—114x4
multiply the ones + 228 0—>114x20
first, then the 2736

tens, then the
hundreds,

renaming where
needed.

DIVISION

EARLY DIVISION
Children have access to a range of ‘concrete’
resources to support the exploration of
division. Division is presented to them in a
variety of contexts, progressing from single
digit division to word problems that require
halves using numbers that are 20 or less.

8 -2 =4

} Thereare & cans.
Children organise = = @
g S

objects into x
equal groups. = b =
This example - &
shows eight cans Thereare -
grouped into
twos.

4 boxes of 2 cal
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6 - 3 =2 ~ /=""\
Children organise | ® = A —-
objects by S S WY 4 Eoch chd tokes ana mora cookie e ey
sharing them out /Zaa\ \ "‘
equally. H 2
PP I
10 -+ 2 = 5

Children explore
halves beginning
with numbers
which are less
than 20.

DIVISION

WRITTEN DIVISION

Children develop methods of recording
division to show both specific answers and
related facts.

12 - 3 =4
12 -+ 4 = 3

Children use dots
Lo represent
objects when

showing working
out in an array.
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2528 - 8 = 316
Children identify
related facts
which are related
(e.g. 24 + 8 = 3
so 2400 = 8 = 30)
to partition the
number into
chunks which are
divisible by the
divisor.

seecfieecfiooloo RN 1 111
D

300 boxes 10 boxes 5 boxes 1 box

2528+ 8=300+10+5+1
=316

316 boxes are needed.

376 - 5 =75
Children identify
the link between
the number discs
and the values 1in

the shorter

method - find
related facts to
use to divide the
larger number by
using
partitioning and
remainders.

o 376+5=

B0 ©© 00
D 0p0HO
1010 OO

10 She moved 20 ta
376 the 6 to make 26.

5m’

This refers ta 26.

350 26
[iocl:ccRUET) N -
@ 10 10 mmoeos)x?s
10 oo
0 Gith..

37%6=370+6 iy

=350+26 =
dividing 35 tens by 5

=

7 5 remainder1

5 26
5 /SiaE What

should we do with the
376 + 5 =75 remainder 1 remainder 17

7192 = 31 = 232
Children identify
chunks of numbers

that they can
subtract to find
out how many of
the divisor are
in the dividend -
find related
facts by using
known facts to
divide the larger
number by using
partitioning and
remalinders.

7192 + 31 =

N, 7

100 il -

~

31 ;

]

1
2
)
9

L &= N

100 -

plo om|lor

9
0
9
3
6
6

1
W wl= o= =
(= L) = O L N

-
o

0

L
o m
—
(=]

= |l o= o]|l0 o|0Oo

1
L W
o m
[y
o

1
o O
N
p%]

o
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1989 = 15 =
r9
Children work out
how many of the
divisor are in
the first two
digits of the
dividend 1f taken
as a whole number
— subtract the
answer and drop
the next digit
down to make the
next number to
divide by the
divisor. Repeat
and any amount
left which cannot
be divided by the
divisor is the
remainder.

132

—_
w
N
—

\o

-

&)
_
o1 ©

£=¢>‘
1 Co«—0

O ©Oe—©

w ol

o |

1
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

related facts

YEAR 2: 2, 5,
YEAR 3: 3, 4, 8
YEAR 4: 6, 7, 9,

F____________

11,

By the end of the year,
have accurate recall of times tables and
(for example division)
these times tables:

10

12

TIMES TABLES

children should

of

Signature from Governors:

Date:
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Signature of Head teacher:

Date:
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